FgArea: ['E']
NC11 P6
2025-05-22 (Day 47)
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP6AE_E
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P6AE
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16:35 333 160.0 FA| FnHA@16:35 KRFIEF (KAERKE)
24t 3996.0 (127%) 1920.0 32K EC: 2080.0, PH: 5.5

FHERECE (2143.0 vs 3133.0) RS
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ET (ml/hr/plant)

P6AE_E, Day=47 (2025-05-22)
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P6AE_E, Day=46 (2025-05-21)
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a0 & ME
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—— ME
45 -
44 -
43 -
T T T
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m=890,m FV0=0
45+ —e— ME
44 -
43 -
42 -
890 895 900

m=555, FVO0=0
4617 _o— M_E
45 -
44
43
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m=750,m FV0=0
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42_ T T T
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P6AE

BjiE) | BRI (F)) | EHME (BAH/K) | XS ERE

07:10 308 160.0 |Z=| 1BRiZe07:10 Bzh (KEERESE)
07:45 308 160.0 |Z=| 1Rig@07:45 Bzh (RAHEREE)
09:00 308 160.0 = {RRi8009:00 B (RFAEEE)
09:50 308 160. 0 E 1BRi&@09:50 Bzl (RAERE)
10:30 308 160. 0 El 1BRi%010:30 Bz (GRAERE)
11:05 308 160.0 =l {Rige11:05 B3 (RAERSE)
11:40 308 160.0 Sl {Rige11:40 B3 (RAERSE)
12:20 308 160. 0 E| {Rig012:20 B3h (RE{ERSE)
13:00 308 160. 0 E|  {Ri&@13:00 B3h (RE{EREE)
13:35 308 160.0 S| {Rig@13:35 B (RAERSE)
14:25 308 160.0 |Z=| 1BRige14:25 Bzh (REERESE)
15:50 308 160.0 |Z=| 1BRige15:50 Bzh (REERESE)
24t 3696.0 (12%) 1920.0 3ZHKEC: 2080.0, PH: 5.5

HREFIRRA (0.93) , FEE

MEREHER 2 STHAEARS (291.0 : 160.0), AIREKREERE
BRIASERRIERE160. 0 ml.

H#EIRECE (2205. 0 vs 3283.0) s



P6AE_E, Day=45 (2025-05-20)

150 1=y, VP BRV, ET = VI, VO, FVI, FVO, FRV, adjFRV, ET
- 4000
100 4 2890
00
Warning: lcol [FVI',| "FVO’'] missing 143
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. ( o vi — ME 446
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s
'@ 200 A [ 44w
— e 7 S| D R N LN YL o VA A N N Y T ey =
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> 100 - ( ! ! u - - ! - 42
(o'
1.0 40
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
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2200
O S L T ST S e H——H———H—————H-—————f——————f-———m—f-——==]
2000 A
1900 4 Warning: lcol ['ECC'] is missing
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5. 75 1
1/ [ TR SO S S S S0y
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5 00 - Warning: lcol ['PHC' ]| is missing
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c | ] - 3000
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i - 2000
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£
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[ 1
1 O_EZZZ.I ‘447 2 0
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—
[ ] | _obs
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cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



45.
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44.
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45.

44.
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44 -

43 -
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M_E
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m=625,n FV0=0

T
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M_E

T
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m=815,n FV0=0

T
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M_E
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m=450, FV0=0

BT _o— MmE
44 -
43 -
42 -
41 -
T T T
450 455 460
m=680,m FV0=0
—o— ME
45 -
44 -
43 -
42 -
T T T
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m=880,m FV0=0
—o— ME
45 -
44 -
43 -
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45.
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M_E

720

7é5 750
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P6AE

BfiE) | GEBEETIC (FD) | EM=E (BAH/K) | XK R

07:30 308 160.0 FA| 1BRi&@07:30 B3h (KAEREEE)
07:55 308 160.0 FH| 1Bi&@07:55 Bzh (RAEREE)
08:50 308 160.0 (Z=| {Ri%@08:50 H#EI (FEAHERHSE)
09:40 308 160.0 & =| 1Ri%@09:40 Bz (kPBEREE)
10:15 308 160.0 & =| 1Ri%e10:15 Bzh (RAEREE)
10:50 308 160.0 (& =| 1BiB@10:50 Bzh (REEREE)
11:20 308 160.0 =l Rige11:20 B3 (RAERSE)
11:55 308 160.0 El BRige11:55 Bzl (GRAEREE)
12:30 308 160.0 =l {Ri%e12:30 B3 (RAERSE)
13:05 308 160.0 F BRige13:05 Bz (GRAERESE)
13:40 308 160.0 5| 1Ri%e13:40 B (REEREE)
14:30 308 160.0 =l RRiB014:30 Bz (RAEESE)
15:20 308 160.0 = Rig015:20 Bah (REAEESE)
16:05 308 160.0 =l RRiB016:05 Bz (REAKEE)
2it] 4312.0 (14%) 2240.0 3EHKEC: 2080.0, PH: 5.5

EREFIRRA (0.94) , FEE

MEREHERE STHAEARS (291.0 : 163.0), AIREKREERE
BRIASERRIERE163. 0 ml.

HERECE (2235. 0 vs 3393.0) s



P6AE_E, Day=44 (2025-05-19)

FRV (ml d-1)

150 7y71, VO, FRV, ET = VI, VO, FVT, FVO, FRV, adjFRV, ET 4571
- 4000
100
2509 608
1900 813
50 | 1400 2000
029 00
33 Warning: lcol [FVI',| "FVO’'] missing

FRV (ml plant-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)

0.6 -
0.4-
0.2-
Warning: lcol ["WC1',  "WC2'] missing
2800 5
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2000 - e
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44.
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m=460, FV0=0

—o— ME
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42 -
41 -
T T T T T T
600 800 1000 460 465 470
m=590,m FV0=0 m=630,m FV0=0
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42.5 -
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5 -
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42.0 -
.. 0
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—e— MNE —o— ME
5 -
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01 45.0 1
5 - 44.5 -
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m=490, FV0=0
45.50 - — NE
45. 25 -
45. 00 -
44.75 -
44.50 -
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T T T
490 495 500
m=665,m FV0=0
44.5 4 —@— M_E
44.0 1
43.5 1
43.0 1
T T T
665 670 675
m=785,m FV0=0
—o— ME
45.0 1
44.5 -
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785 790 795
m=945,m FV0=0
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45.0 1
44.5 -
44.0 1
43.5 -
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m=985,m FV0=0
0 - —o— ME
5 .
0 .
5 -

985 990 995




m=1030, FV0=0

- ME
46.0 -
45.5
45.0 -
T T T
1030 1035 1040




hour

100
:00 -

105 -
80

- 60
140

:05
- 40
:20

:30
20
140

:35
1 1 1 1 1 1
IN) % W QR % R
SEEC S R
Q\z\ :@' >\>é' (&\%’ %ﬁf%




P6AE

Bjia) | GEEBEETIC (7)) | EBE (BAH/HK) | XK R

07:25 302 160.0 BE| {RRiB007:25 Bz (RFAEEE)
07:50 302 160. 0 E 1BRi&e07:50 Bzl (RAEREE)
08:40 302 160.0 |Z=| 1BRi%e08:40 Bzh (KEERESE)
10:05 302 160.0 (Z=| 1BRiB@10:05 Bzh (KREEREE)
11:20 302 160.0 =l RiB011:20 Bz (REAEEE)
12:30 302 160.0 =l RiB012:30 Bz (REAEESE)
13:40 302 160.0 (Z=| 1Ri%e13:40 Bz (GREAfERESE)
14:35 302 160.0 [Z=| {Ri&e14:35 B3 (REAKESE)
2it]2416.0 (8%) 1280.0 3203 KEC: 2080.0, PH: 5.5

BATHRERA (0.94) , HE
FRALER R 5 TERE (2760 -

BRIASERRIERE160. 0 ml.

#[ERECE (2225.0 vs 3660.0) 15
EREBPH (6.4) 5REE (5.5 WERKX, HRE.
LOREBIPH (6.4) S5#EEIEN (5.5) REKK, BRE.

160.0), FIREKRREERE




P6AE_E, Day=43 (2025-05-18)

150 1y 1, V@RV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET y500 - 3000
100 11800 L 2000
315 1400 440
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50 - L 1000
10 Warning: lcol [FVI',| "FVO’'] missing 33
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Warning: lcol ["WC1',  "WC2'] missing
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—@— PPFD obs
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m=465, FV0=0

-o— ME
42 -
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41 A
42 -
40 A
40 -
-@— ME 39 -
T T T T T T
600 800 1000 465 470 475
m=640,m FV0=0 m=700,m FV0=0
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0 -
44.5 -
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